T}"r& mﬂ_u-_n.:i'_fé_‘&l.nnhm s.[!ﬂ s n_hﬂ{sﬁbm_aﬁ‘_:&-n..ﬂiﬂ.n .
_ diffecenfal e wahon , Use reduc hon of arclor b fHnd |
a second lnear {5 millfaend:anf iﬁ[_u_‘bm_?(t_w R T

M 3"4—25 +yso | Jid= DT This is 2nd ordler, nsae, |

e __Assume ﬂ.,_LQ_LLﬂ_% (k) = uxe ® 2 ___hmmgum_e.ﬁ%hﬂ &
_31_ wxe ™t - ] _ with constant coefficieafs

"_l.Ar_.'i_t_ Ak * - LLY-'E'- i e o e

_ Llegtye” ._e.-__;,_ah(_e.‘ P ) U I e T a0 ¥ B e ® ey SRR

T TN TN PPN s T Ol 0

W e TR TN a0 e 00 e U

i _N_M:._Plu&ﬁ lag ke by ME . s : A RN
wxeezue zulve™ - zue M ruxe” J—.LM )t uxe *

T . :tﬂ.a._LZLZE-ﬂ 2% e ]*ru["&ﬂ KE _tZe_Zzz__ws_""_l_'
———

i
Lo =% e o

e LJ:I"L._E:]‘J._ZE_'M_"-:Q e
_____ Ve edbe m. 0 5

SRR e i N

U..‘.*L-L

____ =D ustsn B 0 Nﬂiﬂ- "I"{‘!-d.& (S o L’aiw |
xdus = =205 S,ém.mhk. g uai on

G R et e e = T T ol s




Jnlwl ==2lalx]4+e =Inlx* |+

g H
e oo elnfr- l+c

‘—=_E.!"|"-’"d! e€

Il Sa e_fnl'lf‘l

i ZoHE

Rut w=u

1Se w)= e, dx
20, X 'teq

B =1
Sl Stiln

Thanm w) = }sbt
(Do gy (1) = W) (x)
T e 1

- =K
i :

Nows sur Sermra\i S.ah..-._"‘i'm s 5{'.)‘-‘] = Qi%-&*“ +c‘.-,_€-h

*

Nate t T8 e eaxe ulx) = Sk ey 5 when we maltply
by xeTE weget L)y (k) =ce ¥t ne ™ . Howtr Haig
&acond t+erm Eajmﬁ a scalar mul h‘PLn. of Yy (k) se i+
il e Yabserhed . This allows ws fo treat ¢, as 0.
Then by the Suger paﬂﬁm'?rim.i?im} anyy scalar mu (tiple
lof 4 solwhon is alse a 5::[1.«..‘!'&&1; So La€ Cen treat 31

as | Siw‘m} s wir) = x=t




i ____2._55‘_:[5._- ts‘(,ﬁ_s_ln_{ﬁﬁj______jlﬁ_i is o 2ndorder lincae,
ST ._mﬁm&miml wmi s ..__.__m-&ﬂ-mm—%m -

zwsin@3x)  witho constant cm?ﬁumf&

g, 2 wisinl(ax) T 3ucostax)

= sinlaw) klowl cosl(B3x) = Tusintax)

L e uilsmﬂa x) + &u.;siam +3u msBLLJ _Muﬂﬂ—---

Nous _PLLL&&L&S_%L_M_'L"D!: Et&.uﬂ.:ﬁm___
 WMsin@ardrbuw cesar) ~qusin(2x) + Tu sin(ax) = o

""Uu =3

e ..5m(3:ngm_._&zmsﬁislm ;_.____..______sgmhh_a&m_. =

b

H r@_r." B T St e R Aok A e ]
RS J_ T SinlAbl - Wave TRl e R
B R ) VPN T B,
0 Pion B 10 S Mgl L o 0 N SRS DA =2
akieias B2 gl ki s
S BT U S RO R o 2
e z-2lnlsin(ax) | L o e
E . s ohiisblaol i elaleaciadl = = o5
; _.._______.___u.u_cig‘_'iaﬂ.. 2 S, SRR o




Buk o=

S Wwin) = Sg.y;z(,?mﬁdx

I Z ij_a_tf".’»h’l
=D wdx) = cot(3x)
Thame Hy (0) = WXy, (x)
= cot3x) sinl3x)
= cos(3x) Sin(3%)
sinl3x)
I =Cos(aK). AR
Moo tha qenecal solution is y(x) =€, 5/n(3x] +<¢yCo3(3x),
.3..)(“5“ f?-xsl “ly=0, YW= X This 18 o 2nd ordar, [inaar,
Assume o (] =Wk (K) hemegensous eguation
zunt with variably ;.uE.fFch.E ents.,

(TR S T Assume X>o.

Uy 2 WkEE UK A2+ 2w
e l.:."}.'i?' +4U-" A+l :
Nmﬂ P;Lﬁinﬁ Y2 indo tha DE, we ﬁe_‘l‘
Kl 43 x4 20 ) + 2 Wk e 2un) ~buxZ = |
! x e [Ml 4—%[%1?0
| V.- o
Loty bulstan
LTI Y.
- -?I\




E2 duw + bua=0. This is a I-;.j_:_g,;;{g_% linear,

3 =S d)‘. & 4 ..___4519@&&_68@.. - s
s e dm_:;_lg LAy STy s

L e

e e
] w

A

In|wl ==6lnlxl.

= In Jf:r':'

=l =
::“)u,j:f:lnﬁ = e

o When ra=ag S0 = [x~®
-S0_ulK) _f,x c[sx




FLo=Dy! =Xy + =0y (K)=e” This is & 2nd order, lina,

Assume y (€)= UKy, )
I =ue”
5; = u'eX puek

. ?f‘= wWoX 20! o X

hcmgmnu.s %m’fﬁm :

with vaciabl coeffcients

Then Piu&ﬁinﬂ Yz into 'I'LQ.FDE, we Se,‘f
x=D(wet e zuleX puet) - x(u'e® rued) +ue=0
_..(x—ﬂu“-l-(%}u‘ HW)U‘LO

| —— K=l
(x=Du 4 (-2} = 0.
et w=u

w'=w

=> (k=D dus = ~(x-2)w
i -
. Jd_u_g :.-J(g;_g. dx
1= ST L K‘.‘..*)_
==/1=1 \dx
s

:lﬁluﬂ'-__* (x=In|%-1[)
==X+ In|x-1

Lo e e-—-ﬁ( 4 %=1
X Inix-1]
e, B

= ..?—?_E*K (.2.4:' Ll

o

This is o lst arcelur, fln.Emf:,‘




Then wa= ' => wx) ‘—feqi‘(}(— N x

3. o 00 rH-:ﬂhﬂ

ds=dx = =X

T . - (x=1)e>* = [€.e)dx

aafi-)e™t o8 =

S

:"K}E-UIKJH}{KJ

o A _
= “(-—xeﬂ : | T

=224 A

B i i P T - e S . — Sl et CF ST, |
e




